Varianta 38

[11.
13. a) Numiirul maxim de buchete este 6.
b) P(E) = nr. cazuri -favora.bllez
nr. cazuri posibile
14. a) E(x) = x2+1:x+3—4 1- 1 j: x2+1 D4(x—1)D X _ 24x _
X“+1 4(x-1) Xx+1) x*+1 x-1 x+1 x°+1

b) (x2 +1)|:|E(X)S1 = 4x<l= x< >, xOR—-{-13 = xO(-oo; —l)D(—]; l}
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ajilﬂz, a0z -{-13}. (a2 +1)i(4a?) si (a? +1)i(4a? +4) = (a2 +1)14

Rezult: (o2 +1)0{1, 2,4 = a?0{0;1: 3 = aD{O;—l;l;—\fS;\fE} alz-{-1 1= a=0.
15. b) AM =MN =9cm, decilMAN este isoscel.

c) E(a)=

C)Vynsc =4\/_6—§B6\/§ =144/2 cnt’.
d) Ay =N ?M - MNEAN S"'”(MNA) — 6v2 =963 Bin(MNA) =
sin(MNA) :Q:ﬁ.
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